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silnx = —,CcoSx = —, tanx = —,
¥ 7 b

1 1
CSCxr = —,8ecx = , Cotx =
sinx COSx

2. qAL M3 34

sin’z + cos’z =1
1+ taan = sec2x

1+ cot’z = csczx

3. A8+ U3y

sin(—xz) =—sinx
cos(—x) =cosz
tan( x) =—tanx

4. &89 FEF
sin(x+y) =

cos(xty) =

tanx *tany
1 + tanxtany
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tan (z

d,0)

sinx
coSx

tanx =

tanx

sinx cosy + sinycosx
COSX COSy + sinxsSiny
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5. AZet40] W2ABY
Sil’12£: 1—cosx
2 2
cosZﬁ: 1+ cosx
2 2
x 1—cosx
tan’=—=
2 1+ cosx
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sinnx = ) ,C,cos" “zsin“zsin
E=0 2
n
_ —k .k kﬂ'
cosnx = ) _ ,C.,cos" “xsin ZCOS
=

7. 470 @-3 wy 34

v)
y)

2sinzcosy = sin(z+y) + sin (x —

2cosxsiny = sin(z+y) —sin (x

2coszcosy = cos(x+y)+cos(z—y)

2sinxsiny = cos(zx+y) —cos(z—y)

) ) . xty x—y
sinx + siny = 2sin CcoS
2 2
. ) rty . x—y
sinx —SIny = 2cos sin
2 2
xrtuy x—y
cosx + cosy = 2cos 5 CcoS 5
.xty . ox—uy
COSx — COSy =— 2s1n 5 sin 5

8. Mzateol 2y

asinx +bcosx = \/a2+b25in(x+a/),tana/ =

asinz +bcosx = \/az +b*cos(x—B),tanp =

> R | o
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9. a9 it 26
COS2y — CcOS2x
2

2
C0S2y — COS2x

sin(x+y)sin(z—y) =

csc(x+y)esc(r—y) =

cos2y + cos2x
2

2
CcoS2x + cos2y

cos(z+y)cos(x—y) =

sec(z+y)sec(z—y) =

COS2y — COS2x
cos2y + cosx

tan(x+y)tan(x—y) =

cos2x + cos2y
C0S2y — CcoS2x

cot(x+y)cot(x—y) =

10. aiZfet0 Ni=9| Sl 2uHz

sin®(z+y) +sin*(x—y) = 1 — cos2z cos2y

cos’(z+y)+cos*(x—y) = 1+ cos2z cos2y

2 (sin%2z + sin?2y)
(cos2z+ cos2y)?

tanZ(erg/)thanZ(x—y) =

4(1—cos2xcos2y)

csc?(z+y)+esc?(z—y) = ;
(cos2x — cos2y)

4(1+ cos2xcos2y)
(cos2z + cos2y)?

2(sin%2z + sin®2y)
(cos2z — cos2y)”

sec’(z+y)+sec’(x—y) =

C0t2(x+y)+COt2(JC_Z/) =

11. &A% 5+9 S50t IS4

sin’z + sin’y + cos?(z + y) + 2sinz sinycos(z+ ) =1
cos’z + cos’y — cos? (z+ y) — 2sinzsinycos(z+y) =1
sin®z + sin’y — cos®*(z + y) + 2coszcosycos(z+y) =1
cos’z + cos’y + cos*(z+y) — 2cosxcosycos(z+y) =1
sin’z + cos’y +sin®(z+ y) — 2sinzcosysin (x +y) = 1

cos’z +sin’y —sin®(z + y) + 2sinxz cosysin (x + y) = 1
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12. 4z240 39
. sinx

lim =1

x—0 X

. tanx

lim =1

13. dzgteol 01

(sinz)’ = cosx
(cosz) =—sinx
(tanz)’ = sec’z
(secx)’ =tanxsecx
(cscx)’ =—cotxcscx
(cotz)’ =—csc’x

14. Mzgtao HE
/Sinxdx =—cosx+ C

fcosxdx =sinx+ C

ftanxdx =—In(cosz)+ C
fsecxdx =In(tanz+secx)+ C
fcscxdx =—In(cotz+cscx)+ C

fcotxdx = In(sinz)+ C

15. &ZIe+9| HIZH TH
. 2 2 =
Sll’l.r—?—g kz

1 2 =
COSI—W_i ;
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